INSTALLATION INSTRUCTIONS
PREMIUM MOUNTING KITS

| PERICOIMANCE PART # 16746
Please read these instructions completely before beginning installation
KIT CONTENTS
QTY. DESCRIPTION QTY. DESCRIPTION QTY. DESCRIPTION QTY. DESCRIPTION
4  Straight splined ratchet brackets 4 M6 x 12mm Hex head Bolts 4 Mounting clips 8 M6 square nuts
4 90° splined ratchet brackets 4 Rubber isolators 4 Foam pads 4 M6 hex lock nuts
8 M6 x 35mm socket head Bolts 4 Mounting rods 8 M6 flat washers
Mounting Options
Mount ‘A’ Mount ‘B’ Mount ‘C’ Mount ‘D’ :
Using Nylon Using single Using a 2nd Using a 2nd
Tie Strap bracket, optional bracket, optional bracket,
bolting to top bolting to top of plus rubber
of radiator radiator isolator, bolting
to top of radiator

Mount ‘B’

Using splined ratchet brackets and
90° splined ratchet brackets, bolt to
top of radiator.

Mount ‘A’
Using Nylon Tie Strap

Mounting Clip

M6 Square M6 Hex
Mount Nuts Radiator Top Lock Nut

Splined Ratchet

Bracket-—-

\ Foam Pad

Mounting Rdd passes

\ mrough ralgia(’;orl. Enddof | A
. ounting Rod clippe A 900 Splined
Mounting % Rubber off aﬁer%/lounting Clip sM6 X M6 12‘ M6 x 35 M6 Flat goReﬁgtl:g?d
Rod Isolator is cinched down. ocket Bolt X 123 X
Hex Head Bolt Socket Bolt Washer Bracket
Mount ‘C’ or ‘D’ - RadiatorTop w6 Hex
SRS 6\ Lock Nut
S N4
Mount ‘C’ Mount ‘D’ > ' ‘3‘ \|>/|V6 Fhlat
= asher
Using a 2nd optional Using a 2nd optional @
splined ratchet bracket, , splined ratchet bracket, %— Rubber
bolt to top of radiator. plus rubber isolator, bolt Isolator
to top of radiator. M6 x 35
| Socket
A\ ; el Screw
N, W= M6 Square
? oy ey Mount Nuts
Splined
e Ratchet
2 SN, Brackets
M6 x 15
Socket
Screw

Derale Performance, Los Angeles, CA ¢ 800.421.6288 ¢ www.derale.com

RevA-11-11-2019 16746-InstructionSheet




